P SoundXtra

SDXBST300CM1021 - Cantilever TV Wall Mount for BOSE SoundTouch 300 Soundbar & Flat Screen TV

| Assembly Kit 1 TV Fixing Kit 1 Tools —— —
A-M6x12mm  B-M6washer C-M5x10mm D-M5x30mm  E-M5x30mm F - M6 x 30mm I - M8 x 20mm J - M6 washer L- M8 x 6mm spacer N - M6 x 6.5mm spacer P - 4mm key S - Spanner Also required
assembly bolt ( Countersunk G - M8 x 30mm K - M8 washer M - M8 x 12.5mm spacer O - M8 x 6.5mm spacer Q - 5mm key ‘Mﬁ
X4 \.\ X X2 X2 X2 H - M8 - 50mm @ X4 ( X4 X4 © X4 R - 6mm key X1 P
@’ | ¢ ©
« b x4 X1

; o Iz | [6%e®
: FIGLHII
X
3
B ; ;
JIKx4

®G®
GG,

L/Mx4 J | N/Ox4

Note: Insert if
required.

Ex2

* Zusétzlich wird benétigt * Egalement requis * También se requiere * Si richiedono inoltre * [lononHuTensHo Heobxoaumo * Ook vereist * lisaksi tarvitaan * Dodatkowo wymagane * Dessutom behovs * Z%H %



SoundXtra

SDXBST300CM1021 - Cantilever TV Wall Mount for BOSE SoundTouch 300 Soundbar & Flat Screen TV




